Quiz 3

NAME:
PERM NO.:
SECTION (CIRCLE ONE): 8AM 5PM 6PM 7TPM

1. Consider the set of vectors

{[1,01,[0, 1], [1, 1]}

in the vector space R2. Justify your answers to the following:
(a) Are these vectors linearly independent?

(b) Do they span R??

(c) Do they form a basis for R??

(q) g\)(}; j\t—!@\[‘ Twq {/’\f‘e C!;‘ue" i g '}' L‘(f hi"“i«“a ;4’52 a8 Cl,__, ﬁ e . | i“ :

S bing Tf{} idiem
A {m@ Fﬁ% t g”’ oot

UJ L_A j

{%} Yes. Neshteo b gwﬂ Ejf*—»}[}f |
“Ealo]t 7] aner

{ 3 i -~ ) - : | |
(N @ ot () ot wd bor 5 040] Co0, 00,026 b
{E‘ o v o %-@% e (:e:m I_‘R\EQ .

( \jw £, C_:T‘?lf‘afﬁﬁ {gm% é[ f ; GJ} [ o f:)% i&ﬂ 4 Gag:s ﬂ«:ﬁf !2%



Quiz 3

NAME:
PERM NO.:
SECTION (CIRCLE ONE): 8AM 5PM 6PM 7PM

1. For the differential equation
y =y,

lightly sketch several isoclines (start with ¢ = 0,£1,42), and use these to skeich a
direction field with some sample solutions drawn darker.
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